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I. For the C programming language, please answer following question:
a). What is the value of y after the following sequence?(5%)
X=13:
Y=(X>3)

b). What is wrong with the following sequence? (5%)
int X[20];
X[20]=35;

¢). What is the final value of X in the sequence below? (5%)
X=¥Y=Z=2;
L=Y--*X:
XK=(X1=Y)7Z2:Y,

d). What is the final value of Y in the sequence below? (5%)

e). What is the resulting value printed out after this sequence of code? (5%)
int arr[20];
int i;
int *px, *py;
for(1=0;i<20;1++) arr[i]=1;
px=&arr[5];
py=&(*px),
printf{*Value in py = %d.\n", *py);

2. Explain thefollowing terms: (15%)
a). Database
b). Electronic Commerce
¢}, Intranet
d). Proxy
e). Asymmetric Digital Subscriber Line

3. Please Draw the Flow chart to compute the following S value: (10%)
5=1+3+5+T7+9+] 1+, ...+ 99
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#include <iostream. h>

#include <iomanip.h>
const int MAX_STU = 4,
struct student t

{

char name[9];
intel, c2;
double average;, 1},

void mamni )

{

Ho—-

W -

student_t score[MAX STU] = {{"Paul”, 93,91},
{"Clark", 89, 93}, {"Caroline", 92, 79}, {"Justine", 99, 96) };
nt i;
AR TFRITSE® (5%)
cout.setflios::fixed, 105::floatfield);
cout.setfios:left, ios;;adjustfield),
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cout << "Name Cl C2 Average'n";
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